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marks of the 100 stude

1. (a) The mean
overed that two

it was disc

to be 50. Later on,
S 65 and 75 instead

marks were misread a

student’s
mean corresponding

of 56 and 57. Find the correct

to the correct score.

nts were found
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( )
1Stribution

are U, 16, =
36, and 120 respectively. Comment

upon the S
p kewness and Kurtosis of the distribution

o) F oL
(c) For a symmetric distribution consisting 100 items
th 1ati .

e Standard Deviation is 70. Find its quartile

deviation (Q.D.) and mean deviation (M.D.)
(d) The following equation has been derived for the
production of steel:

Y. = 8.40 + 1.75X

(Origin: 2007; X Unit: 1 year; Y unit: Tonnes per
year)

Rewrite the equation by shifting the origin to 2015
weight of

(e) The covariance between the height and

s found to be 8 and their standard

ten items i

deviations are 2.80 and 3.10 respectively. Find
the coefficient of correlation between height and
weight.
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called ‘ideal’ index?

. (6x3=18)

Why Fisher’s index is ; .l
(H ¥ Find out the missing frequencies if the median of

the data is 32. 9)

OR

2. (a) Following are the data related to two companies

(a) A problem in statistics was given to three students
_ A and B:
A, B and C whose chances of solving it are 172,
1/3 ively. ' '

, and 1/4 respecnvely P _ . Company lA T S

g i | Number of workers | 200 {a00 |

' | Average Salary of workers {3200 13500 |

Variance of salary of workers | 1024 | 1156 |

Compute the following :
(i) Which firm pays larger pay package?

(il) Which firm shows greater variability in

salary distribution?

iy Compute the combined average salary of

all the 600 workers of both the firms taken

together. O

.44 %
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2 black ballg

+ Red and 8

3 {c.
(b) A bag contains® § whi

drawn one¢ bY on

If 4 balls ar¢ _ .
'pllt.‘“""g ¥

the find the f
. is black?
(1) Probabitit_\' ¢hat none 1% bla
ack?
(i1) Probability that all are bl
2 balls drawn are black?

©)

(i11) probability of only
OR

B and C manufacture

25%, 35% and 4 : | output respectively.

Of their output, reSPCCU"ely’ 4%’.5% IR
o defective- A bolt is picked at random

d to be defectl

(a) Ima polt factorys machine A,
0% of the tota

known 1O b
and is foun
that :

() It is produced by machine B

(i) It is produced by machine C

(iii) It is produced by machine B or C 9)

(b) If 5% of the students izppeariﬁg in an examina.tifm
fail, using Poisson distribution find the probability

that out of 200 stu
examination:

o with replacemeny

.ve. Find the probability

1501 7
(1) None has failed.

(i1) 5 students failed. 5

- :
(c) State the addition and multiplication rules of

probability. »

3. (a) The lifetime of certain kind of battery has a mean
life of 800 hours and standard deviation as 90
hours. Assuming the distribution of lifetime to be

normal, find:

(i) The percentage of batteries with a lifetime

of at least 900 hours

(ii) The proportion of batteries with a lifeume

between 750 to 850 hours. (9)

(b) An enquiry into the budgets of the middle-class

family in a certain city gave the following

information :

Items Food | Fuel | Clothing | Rent [ Miscellaneous |

9% expenditure 30% | 15% | 20% 10% 25%

ts appearin in the
dents app g : Price in 2010 ®)

1400 [270 | 720 300 400

Price in 2020 (3) _| 1450 290 | 780 320 430

PT.C
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ruct @ COSt-of.
that of 2010,
,000 salary ip

Suppose Mr. nould be his salary in 2020

0. What s _
ear 201 i of living as 1n 2010,

the ¥
. ¢
intain the same S
to main o)

OR

of Road safetys ji wiag;faund that

(a) During a survey el
70% of the accidents occul"%t:mh*i o=

: alcohal related 2 and,
L ’QF gx—r £

60% are |
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Commodity Base year Current Year
Price | Quantity | Expenditure [ Quantity
A 8 80 792 88
B 4 200 1150 230
C 6 120 980 140
D 10 60 840 70
E 7 80 810 90

Calculate price index number from above data
using : |

(1) Laspeyres’é method,

(i1) Paasche’s Method, and

P'JE: ggﬂ Jf{{ s &
: (iii) Fisher’s method. )

ey
S

T

Fo .io_v;ing. data relate to the marks obtained by 10

.‘:-f:"v ‘: 5 4 : . . .
students of a class in statistics and accountancy:

22 [31 |32 |28 |34
3

T36]27 (26|27
121 |28[20 (D |17 |2 |2

quired to calculate spearman’s rank

;gfﬁcignt. 9)

P.I.0.
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are given pegarding expenditurg

(b) The following datd
. agrticular firm:
on advertising and ales of @ p.\nuu { n; (1) Two reg
| gression equations
(i1) The
coefficie p
efficient of correlation between the

Sales (Y)
marks in mg ;
in mathematics and statistics

enditure

Ady ertisement Exp
'4

(i) The e
qlatiq?‘w.hkc‘y marks of student 1In
stics if marks in mathematics is 40

Standard Dewvi
Correlation coefTicient
(iv) Calcul :

ate standard error of estimate for

regression equation Y on X (8B
0
(14)

alculate the following : |

You are required t0 c
(b) Differenti
entiate between correlation and regression

n equations
analysis.
4)

(i) The two regressio
(i) Estimate t nt expenditure
required t0 2 get of T 140
Lacs. : X )
OR [ Year 20142015 (20162
‘ : 017

}’()rooducnon 35 \ %M \ 23128

following marks (‘000 tonnes) J,HJ_“ |
articular class

he advertiseme

ttain a Sales tar &, a .
» (a) Following data relates to the production of a sugar

factory :

er examination
You are required to:

(a) In an end semest
en students ofap

were obtained byt
(i) Fit a straight-line trend using method of

d statistics

in mathematics an
BRSO EE ; : e A least square
]ltdffarksin 25|28 35[32]31 36120038 [34]32] |

athematics | : i (i) What is aver ‘ '

- age thl as
Maks || % 2413 213130 | 3339 B rion? L e
Statistics : " : ‘ :

TAF (iii) Estimate the production in year 2023.
(10)

You are required to findi'out’ SEE
B.T.Cx
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(b) Define additive and multiplicative g m(:: Lo (%) 100 BT B gy % 50 U Q1 @@ X, 77 qwn W@
series analysis. !

(c) \‘:::c [l::- p.n‘pcrncs of Karl Pearson’s coefficient . o @ i =y 56 AN 57 B TG 65 AT

L :\f.corrclmmn. “ 28 N % & T wer @ o w8 3w 2 FET T

OR A TR e

(a) Following are the sales data of a companyl for the | (@) farn @ o .

period 2014-2020 : > R "‘ﬁ‘lﬂ HAI: 0, 16, -36 HW 120

Year _ [2014] 2015 | 2016 | 2017 [ 2018 | 2019 | 2020 | ¥ R i FoRE W Rkt it
s a2 @ |60 | 42 | 128 136 | 182
|_(inlakhs 3) () mow@fm%wﬁaam%ﬁqmmm%l
S T R (Q.D.) e e Rt (M.D.)

You are required to:

(i) Fit a parabolic trend T e
(i) Forecast the sale for 2022 (10) (%) Wﬁ»‘ﬁm%ﬁﬂ L B o R DT R —
(b) What are the components of time series analysig? 3
4
4) Yo =840 + 1,75
(c) If stanfiard deviatign of X and Y are 4 ang 3 - . (7 2007; X e 1 g Y o wfy )
respectively, and coefficient of correlation betweep - ]
XandY is 0.8, find the two regressioh.coefﬁcienté_ i ol 200 ¥ v R Fw = T fofay
(4) (=

B AN
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A =1 wiew
(ii) 750 X 850 WP & N IuAfen I@fx A

AcRA = FIE! (9)

(&) %@wmimaﬁﬁqﬁaﬁﬁmaﬁsﬁa%
frafafag T=EQ W g

ik T | s | aw | oo | R
FT% 30% 15% |20% |10% 25%

2010 F#Faa R) 1400 [270 |720 {300 400

2020 F #1177 ) 1450 |29 |780 |320 430

Sqles S ¥ 2010 F gEw ¥ 2020 W
m@mﬁmamﬁmﬁmﬁmaﬁzow
¥ 725,000 ¥ F°0 @ F) 2010 D FAH AT T
=t w7 @ B g 2020 ¥ e Aa fHE B
=Re? (9)
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(w) Featolan wive dfa amga @ w@ie R @@

1 famwor =@ 2.

S e L G
g | wem | sm | wEm

A 8 80 | 792 | 88

B 4 200 | 1150 | 230

C 6 120 980 | 140

D 10 60 840 70

i ] 80 | 810 90
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5. ($)ﬁmﬁﬁa%awaﬂﬁtmﬁ%3ﬂﬁ?%ﬁaﬂa (%) 2014-2020 A afer & forg v w1 faght Fau
[ [2014] 2015 [2016] 2017] 2018 2019 | 0 , a§ | 2014 ] 2015 ] 2016 ] 2017 | 2018 | 2019 [ 2020 |
ameT | 35 | 36 [ 40 | 38 4] 44 | 45 ; R | 42 | 42 | 60 | 42 | 124 | 136 mj
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